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*********************** First Modified Section **************************

5.1a.3
Packet data block type 14 (UAS-7)

5.1a.3.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 941 information bits {d(0),d(1),...,d(940)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 966 information bits {d(0),d(1),...,d(965).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,40

i1(k-41) = d(k)

for k = 41,...,490

i2(k-491) = d(k)

for k = 491,...,940

And if a PAN is included:

pn(k-941) = d(k)

for k = 941,...,965

5.1a.3.2
Header coding

The header {h(0),...,h(40)} is coded as defined in subclause 5.1a.1.1, with N=41, resulting in a block of 147 bits, {C(0),...,C(146)}.

The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 136 bits, {hc(0),...,hc(135)}.

5.1a.3.3
Data coding

Each data part, {i1(0),…,i1(449)} and {i2(0),…,i2(449)}, is coded as defined in subclause 5.1a.1.2, with N=450, resulting in two coded blocks of 1404 bits, {C1(0),...,C1(1403)} and {C2(0),...,C2(1403)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(33*k+j) for k=0,…,41, j=2, 5, 8, 10, 11, 13, 17, 19, 23, 25, 29, 31 and 32; and

C(33*42+j) for j=2, 5, 8, 10, 11, 13 and 17, 
except C(33*k+10) for k=4, 13, 22, 31 and 40 that are not punctured.
	C(33*k+10) for k=4, 13, 22, 31 and 40; and

C(33*k) for k=0, 1, 2, 3, 4, 6, 7, 8, 9, 11, 12, 13, 14, 16, 17, 18, 19, 21, 22, 23, 24, 25, 27, 28, 29, 30, 32, 33, 34, 35, 37, 38, 39 and 40.

	P2
	C(33*k+j) for k=0,…,41, j=1, 3, 6, 9, 12, 15, 20, 22, 24, 26, 27 and 30; and

C(33*42+j) for j=1, 3, 6, 9, 12 and 15,

except C(33*k+24) for k=1, 10, 19, 28 and 37 that are not punctured.
	C(33*k+24) for k=1, 10, 19, 28 and 37; and

C(33*k+4) for k=0, 1, 2, 4, 5, 6, 7, 9, 10, 11, 12, 14, 15, 16, 17, 19, 20, 21, 22, 23, 25, 26, 27, 28, 30, 31, 32, 33, 35, 36, 37, 38, 40 and 41.


If a PAN is not included, the result is two blocks of 856 bits, {c1(0),...,c1(855)} and {c2(0),...,c2(855)}.

If a PAN is included, the result is two blocks of 817 bits, {c1(0),...,c1(816)} and {c2(0),...,c2(816)}.

NOTE:
C1 and c1 correspond to i1, and C2 and c2 to i2.

5.1a.3.4
PAN coding

The PAN {pn(0),...,pn(24)}, if included, is coded as defined in subclause 5.1a.1.4, resulting in a block of 90 bits, {C(0),...,C(89)}.

The code is punctured in such a way that the following coded bits:

{C(6*k+5), C(6*k+50) for k = 0,1,…6} are not transmitted; except C(23), C(68) which are transmitted.
This results in a block of 78 bits, {pc(0),...,pc(77)}.

5.1a.3.5
Interleaving

a)
Header

The header, {hc(0),...,hc(135)}, is interleaved as defined in subclause 5.1a.2.1, with NC=136 and a=9, resulting in a block of 136 bits, {hi(0),...,hi(135)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,855

dc(k) = c2(k-856)
for k = 856,...,1711

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,816

dc(k) = c2(k-817)
for k = 817,...,1633

dc(k) = pc(k-1634)
for k = 1634,...,1711

The block {dc(0),...,dc(1711)} is interleaved as defined in subclause 5.1a.2.1, with NC=1712 and a=187, resulting in a block of 1712 bits, {di(0),...,di(1711)}.
5.1a.3.6
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(428B+j)

for j = 0,...,213

e(B,j) = hi(34B+j-214)
for j = 214,...,231

e(B,j) = q(2B+j-232)

for j = 232,233

e(B,j) = hi(34B+j-216)
for j = 234,...,249

e(B,j) = di(428B+j-36)
for j = 250,...,463

where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme UAS-7, UAS-8 or UAS-9.

b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

Swap e(B,200+k) with e(B,218+k) for k=0, 1, 4, 5, 8, 9, 12, 13, 34, 35, 38, 39, 42, 43, 46, 47, 50 and 51.

*********************** Next Modified Section **************************

5.1a.8
Packet data block type 19 (UBS-5)

5.1a.8.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 479 information bits {d(0),d(1),...,d(478)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 504 information bits {d(0),d(1),...,d(503).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,28

i(k-29) = d(k)


for k = 29,...,478

And if a PAN is included:

pn(k-479) = d(k)

for k = 479,...,503

5.1a.8.2
Header coding

The header {h(0),...,h(28)} is coded as defined in subclause 5.1a.1.1, with N=29, resulting in a block of 111 bits, {C(0),...,C(110)}.

The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 108 bits, {hc(0),...,hc(107)}.

5.1a.8.3
Data coding

The data, {i(0),…,i(449)}, is coded as defined in subclause 5.1a.1.2, with N=450, resulting in a coded block of 1404 bits, {C(0),...,C(1403)}.

The coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(27*k+j) for k=0,…,51, j=5, 8, 11, 14, 17, 20, 23 and 26
	C(27*k) for k=0,...,51; and

C(27*k+10) for k=0, 1, 3, 5, 7, 9, 11, 13, 14, 16, 18, 20, 22, 24, 26, 27, 29, 31, 33, 35, 37, 39, 40, 42, 44, 46, 48 and 50

	P2
	C(27*k+j) for k=0,…,51, j=2, 4, 6, 12, 13, 18, 22 and 24
	C(27*k+16) for k=0,...,51; and

C(27*k+9) for k=0, 2, 4, 6, 8, 10, 12, 13, 15, 17, 19, 21, 23, 25, 26, 28, 30, 32, 34, 36, 38, 39, 41, 43, 45, 47, 49 and 51


If a PAN is not included, the result is a block of 988 bits, {c(0),...,c(987)}.

If a PAN is included, the result is a block of 908 bits, {c(0),...,c(907)}.

5.1a.8.4
PAN coding

The PAN {pn(0),...,pn(24)}, if included, is coded as defined in subclause 5.1a.1.4, resulting in a block of 90 bits, {C(0),...,C(89)}.

The code is punctured in such a way that the following coded bits:

{C(11+k), C(17+k), C(23+k,) C(32+k), C(41+k) for k = 0, 45} are not transmitted

This results in a block of 80 bits, {pc(0),...,pc(79)}.

5.1a.8.5
Interleaving

a)
Header

The header, {hc(0),...,hc(107)}, is interleaved as defined in subclause 5.1a.2.1, with NC=108 and a=[ffs], resulting in a block of 108 bits, {hi(0),...,hi(107)}.
b)
Data and PAN

If a PAN is not included, the following rule applies:

dc(k) = c(k)


for k = 0,...,987

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c(k)


for k = 0,...,907

dc(k) = pc(k-908)
for k = 908,...,987

The block {dc(0),...,dc(987)} is interleaved as defined in subclause 5.1a.2.1, with NC=988 and a=108, resulting in a block of 988 bits, {di(0),...,di(987)}.

5.1a.8.6
Mapping on a burst

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(247B+j)

for j = 0,...,123

e(B,j) = hi(27B+j-124)
for j = 124,...,136

e(B,j) = q(2B+j-137)

for j = 137,138

e(B,j) = hi(27B+j-126)
for j = 139,...,152

e(B,j) = di(247B+j-29)
for j = 153,...,275

where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme UBS-5 or UBS-6.

*********************** Next Modified Section **************************

5.1a.12
Packet data block type 23 (UBS-9)

5.1a.12.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1402 information bits {d(0),d(1),...,d(1401)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1427 information bits {d(0),d(1),...,d(1426).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,51

i1(k-52) = d(k)

for k = 52,...,501

i2(k-502) = d(k)

for k = 502,...,951

i3(k-952) = d(k)

for k = 952,...,1401

And if a PAN is included:

pn(k-1402) = d(k)
for k = 1402,...,1426

5.1a.12.2
Header coding

The header {h(0),...,h(51)} is coded as defined in subclause 5.1a.1.1, with N=52, resulting in a block of 180 bits, {C(0),...,C(179)}.

The code is repeated in such a way that the following coded bits:

{C(k) for k = [ffs]} are repeated

This results in a block of 184 bits, {hc(0),...,hc(183)}.

5.1a.12.3
Data coding

Each data part, {i1(0),…,i1(449)}, {i2(0),…,i2(449)} and {i3(0),…,i3(449)}, is coded as defined in subclause 5.1a.1.2, with N=450, resulting in three coded blocks of 1404 bits, {C1(0),...,C1(1403)}, {C2(0),...,C2(1403)} and {C3(0),...,C3(1403)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(21*k+j) for k=0,…,65, j=2, 4, 5, 7, 8, 10, 13, 14, 16, 18 and 20; and

C(21*66+j) for j=2, 4, 5, 7, 8, 10, 13, 14 and 16,

except C(21*k+7) for k=16, 33 and 50 that are not punctured
	C(21*k+7) for k=16, 33 and 50; and

C(21*k+9) for k=0, 2, 5, 8, 10, 13, 16, 18, 21, 24, 26, 29, 32, 34, 37, 40, 42, 45, 48, 50, 53, 56, 58, 61 and 64

	P2
	C(21*k+j) for k=0,…,65, j=0, 1, 3, 6, 9, 11, 12, 14, 15, 17 and 19; and

C(21*66+j) for j=0, 1, 3, 6, 9, 11, 12, 14, 15 and 17,

except C(21*k+17) for k=4, 21, 38 and 55 that are not punctured
	C(21*k+17) for k=4, 21, 38 and 55; and

C(21*k+20) for k=0, 3, 6, 8, 11, 14, 16, 19, 22, 24, 27, 30, 32, 35, 38, 41, 43, 46, 49, 51, 54, 57, 59 and 62

	P3
	C(21*k+j) for k=0,…,65, j=0, 2, 5, 7, 8, 10, 11, 13, 16, 17 and 19; and

C(21*66+j) for j=0, 2, 5, 7, 8, 10, 11, 13, 16 and 17,

except C(21*k+10) for k=10, 27, 44 and 61 that are not punctured
	C(21*k+10) for k=10, 27, 44 and 61; and

C(21*k+12) for k=1, 4, 7, 9, 12, 15, 17, 20, 23, 25, 28, 31, 33, 36, 39, 41, 44, 47, 49, 52, 55, 57, 60 and 63


If a PAN is not included, the result is three blocks of 672 bits, {c1(0),...,c1(671)}, {c2(0),...,c2(671)} and {c3(0),...,c3(671)}.

If a PAN is included, the result is three blocks of 644 bits, {c1(0),...,c1(643)}, {c2(0),...,c2(643)} and {c3(0),...,c3(643)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2, and C3 and c3 to i3.

5.1a.12.4
PAN coding

The PAN {pn(0),...,pn(24)}, if included, is coded as defined in subclause 5.1a.1.4, resulting in a block of 90 bits, {C(0),...,C(89)}.

The code is punctured in such a way that the following coded bits:

{C(15*k+5) for k = 0,1,…5} are not transmitted

This results in a block of 84 bits, {pc(0),...,pc(83)}.

5.1a.12.5
Interleaving

a)
Header

The header, {hc(0),...,hc(183)}, is interleaved as defined in subclause 5.1a.2.1, with NC=184 and a=[ffs], resulting in a block of 184 bits, {hi(0),...,hi(183)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,671

dc(k) = c2(k-672)
for k = 672,...,1343

dc(k) = c3(k-1344)
for k = 1344,...,2015

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,643

dc(k) = c2(k-644)
for k = 644,...,1287

dc(k) = c3(k-1288)
for k = 1288,...,1931

dc(k) = pc(k-1932)
for k = 1932,...,2015

The block {dc(0),...,dc(2015)} is interleaved as defined in subclause 5.1a.2.1, with NC=2016 and a=229, resulting in a block of 2016 bits, {di(0),...,di(2015)}.

5.1a.12.6
Mapping on a burst

a)
Straightforward Mapping


The mapping is given by the rule:


For B=0,1,2,3, let

e(B,j) = di(504B+j)

for j = 0,...,251

e(B,j) = hi(46B+j-252)
for j = 252,...,275

e(B,j) = q(2B+j-276)

for j = 276,277

e(B,j) = hi(46B+j-254)
for j = 278,...,299

e(B,j) = di(504B+j-48)
for j = 300,...,551


where

q(0),q(1),...,q(7) = 1,1,1,1,1,1,1,1 identifies the coding scheme UBS-9.

b)
Bit swapping


After this mapping the following bits are swapped:


For B = 0,1,2,3,

[ffs]
*********************** Next Modified Section **************************

5.1a.31
Packet data block type 42 (DBS-12)

5.1a.31.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 2441 information bits {d(0),d(1),...,d(2440)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 2466 information bits {d(0),d(1),...,d(2465).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,64

i1(k-65) = d(k)

for k = 65,...,658

i2(k-659) = d(k)

for k = 659,...,1252

i3(k-1253) = d(k)

for k = 1253,...,1846

i4(k-1847) = d(k)

for k = 1847,...,2440

And if a PAN is included:

pn(k-2441) = d(k)

for k = 2441,...,2465

5.1a.31.2
USF coding

The USF coding is the same as for DBS-10 as specified in subclause 5.1a.29.2.

5.1a.31.3
Header coding

The header coding is the same as for DBS-11 as specified in subclause 5.1a.30.3.

5.1a.31.4
Data coding

Each data part, {i1(0),…,i1(593)}, {i2(0),…,i2(593)}, {i3(0),…,i3(593)} and {i4(0),…,i4(593)}, is coded as defined in subclause 5.1a.1.2, with N=594, resulting in four coded blocks of 1830 bits, {C1(0),...,C1(1829)}, {C2(0),...,C2(1829)}, {C3(0),...,C3(1829)} and {C4(0),...,C4(1829)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[ffs]
	[ffs]

	P2
	[ffs]
	[ffs]

	P3
	[ffs]
	[ffs]


If a PAN is not included, the result is four blocks of 620 bits, {c1(0),...,c1(619)}, {c2(0),...,c2(619)}, {c3(0),...,c3(619)} and {c4(0),...,c4(619)}.

If a PAN is included, the result is four blocks of 606 bits, {c1(0),...,c1(605)}, {c2(0),...,c2(605)}, {c3(0),...,c3(605)} and {c4(0),...,c4(605)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2, C3 and c3 to i3, and C4 and c4 to i4.

5.1a.31.5
PAN coding

The PAN {pn(0),...,pn(24)}, if included, is coded as defined in subclause 5.1a.1.4, resulting in a block of 90 bits, {C(0),...,C(89)}.

The code is punctured in such a way that the following coded bits:

{C(15*k), C(15*k+2), C(15*k+4), C(15*k+7), C(15*k+10), C(15*k+13) for k = 0,1,...5} are not transmitted; except C(15), C(45) which are transmitted.
This results in a block of 56 bits, {hc(0),...,hc(55)}.

5.1a.31.6
Interleaving

a)
Header

The header interleaving is the same as for for DBS-11 as specified in subclause 5.1a.30.6.

b)
Data and PAN

If a PAN is not included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,619

dc2(k) = c2(k)


for k = 0,...,619

dc3(k) = c3(k)


for k = 0,...,619

dc4(k) = c4(k)


for k = 0,...,619

If a PAN is included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,605

dc1(k) = pc(4k-2424)
for k = 606,...,619

dc2(k) = c2(k)


for k = 0,...,605

dc2(k) = pc(4k-2423)
for k = 606,...,619

dc3(k) = c3(k)


for k = 0,...,605

dc3(k) = pc(4k-2422)
for k = 606...,619

dc4(k) = c4(k)


for k = 0,...,605

dc4(k) = pc(4k-2421)
for k = 606...,619

The four blocks {dc1(0),...,dc1(619)}, {dc2(0),...,dc2(619)}, {dc3(0),...,dc3(619)} and {dc4(0),...,dc4(619)} are separately interleaved as defined in subclause 5.1a.2.2, with NC=620 and a=[ffs], resulting in the four blocks {di1(0),…,di1(619)}, {di2(0),…,di2(619)}, {di3(0),…,di3(619)} and {di4(0),…,di4(619)}, where di1 corresponds to dc1, di2 to dc2, di3 to dc3 and di4 to dc4.

The blocks are put together as one entity as described by the following rule:

di(k) = di1(k)



for k = 0,...,619

di(k) = di2(k-620)

for k = 620,...,1239

di(k) = di3(k-1240)

for k = 1240,...,1859

di(k) = di4(k-1860)

for k = 1860,...,2479

5.1a.31.7
Mapping on a burst

The mapping is the same as for DBS-11 as specified in subclause 5.1a.30.7.
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